GROUNDS CARE SERVICES - WATER & SEWER DIVISION FACILITIES BID COMPARISON

	A. SCHEDULED MOWING												
		1. Tol	1. Tobacco Ridge WWTP			2. Aquatic Center SPS			lier Count	ry WP	4. Chesapeake Heights WTP		
	Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total
	Metropolitan Site & Safety Equipment, LLC	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29
2	Honey Cove Lawn Care, LLC	\$90.00	17	\$1,530.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$45.00	17	\$765.00
3	Windy Willow Farm Services	\$177.00	17	\$3,009.00	\$227.00	17	\$3,859.00	\$55.50	17	\$943.50	\$56.50	17	\$960.50
4	Penguins, LLC	\$2,350.00	17	\$39,950.00	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00	\$102.00	17	\$1,734.00

A. SCHEDULED MOWING (co	A. SCHEDULED MOWING (continued)											
	5. Cross	5. Cross Point WTP and Tower			6. College of Southern Maryland SPS			Beach ?Ro	ad SPS	8. Highlands WTP		
Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total
Metropolitan Site & Safety 1 Equipment, LLC	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29
Honey Cove Lawn Care, LLC	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00
3 Windy Willow Farm Services	\$54.00	17	\$918.00	\$52.50	17	\$892.50	\$53.50	17	\$909.50	\$53.50	17	\$909.50
Penguins, LLC	\$136.00	17	\$2,312.00	\$68.00	17	\$1,156.00	\$68.00	17	\$1 <u>,</u> 156.00	\$102.00	17	\$1,734.00

A. SCHEDULED MOV	WING (co	ntinued)	d)										
		9. Hunting Hills WTP		10. Ind	10. Industrial Park WTP			wood Bead	h WTP	12. Lakewood WTP			
Bidder		Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total
Metropolitan Site & Saf 1 Equipment, LLC	fety	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29
2 Honey Cove Lawn Care	e, LLC	\$40.00	17	\$680.00	\$45.00	17	\$765.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00
3 Windy Willow Farm Sei	rvices	\$54.50	17	\$926.50	\$177.00	17	\$3,009.00	\$68.00	17	\$1,156.00	\$57.00	17	\$969.00
Penguins, LLC		\$68.00	17	\$1,156.00	\$136.00	17	\$2,312.00	\$68.00	_17	\$1,156.00	\$68.00	17	\$1,156.00

A. SCHEDULED MOWING (co	A. SCHEDULED MOWING (continued)											
	13. Chesapeake Lighthouse SPS			14. Market Square SPS			15. M	arley Run	WTP	16. Mason Court WTP		
Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total
Metropolitan Site & Safety 1 Equipment, LLC	\$32,37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29
2 Honey Cove Lawn Care, LLC	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00
Windy Willow Farm Services	\$50.40	17	\$856.80	\$49.50	17	\$841.50	\$53.50	17	\$909.50	\$54.50	17	\$926.50
Penguins, LLC	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00	\$68.00	_17	\$1,156.00	\$68.00	17	\$1,156.00

	A. SCHEDULED MOWING (co	SCHEDULED MOWING (continued)												
		17. Calver	17. Calvert Memorial Hospital SPS			18. Prince Frederick Rescue Squad WTP			19. Shores of Calvert WTP			20. White Sands WTP		
	Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	
	Metropolitan Site & Safety Equipment, LLC	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	
2	Honey Cove Lawn Care, LLC	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$45.00	17	\$765.00	
3	Windy Willow Farm Services	\$52.50	17	\$892.50	\$53.50	_17	\$909.50	\$53.00	17	\$901.00	\$59.00	17	\$1,003.00	
4	Penguins, LLC	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00	\$150.00	_17	\$2,550.00	

A. SCHEDULED MOWING (c	SCHEDULED MOWING (continued)										
	21. Dowell	Road Pum	ping Stations	22. So	lomons SP	S #2	SUBTOTAL A				
Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	I Annual I Total I		SCHEDULED MOWING (ITEMS 1 THROUGH 22)				
Metropolitan Site & Safety Equipment, LLC	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$12,106.38				
Honey Cove Lawn Care, LLC	\$40.00	17	\$680.00	\$85.00	17	\$1,445.00	\$16,830.00				
Windy Willow Farm Services	\$59.00	17	\$1,003.00	\$59.00	17	\$1,003.00	\$27,708.30				
Penguins, LLC	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00	\$69,088.00				

	B. ON CALL MOWING												
		23. Solomons Headworks			24. Solomons Standpipe			25. St. Leonard WTP			26. Prince Frederick SPS #3		
	Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total
1	Metropolitan Site & Safety Equipment, LLC	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29	\$32.37	17	\$550.29
2	Honey Cove Lawn Care, LLC	\$55.00	17	\$935.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00	\$40.00	17	\$680.00
3	Windy Willow Farm Services	\$225.00	17	\$3,825.00	\$225.00	17	\$3,825.00	\$75.00	17	\$1,275.00	\$55.00	17	\$935.00
4	Penguins, LLC	\$195.00	17	\$3,315.00	\$195.00	17	\$3,315.00	\$68.00	17	\$1,156.00	\$68.00	17	\$1,156.00

Pidd	w	Prince Fre WTP #1 ar Main - Righ	nd #2	28. W a	Inut Cr ee k	WTP	SUBTOTAL B ON CALL MOWING	
Bidder	Price Per Mowing	Est. # of Annual Mows	Total	Price Per Mowing	Est. # of Annual Mows	Total	(ITEMS 23 THROUGH 28)	
Metropolitan Site & Safety Equipment, LLC	\$32.37	2	\$64.74	\$32.37	17	\$550.29	\$2,816.19	
Honey Cove Lawn Care, LLC	\$5,300.00	2	\$10,600.00	\$50.00	17	\$850.00	\$14,425.00	
Windy Willow Farm Services	\$1,130.00	2	\$2,260.00	\$55.00	17	\$935.00	\$13,055.00	
Penguins, LLC	\$13,500.00	2	\$27,000.00	\$102.00	17	\$1,734.00	\$37,676.00	

	SUMM	ARY OF COSTS	1
Bidder	Subtotal A Scheduled Mowing	Subtotal B On Call Mowing	TOTAL BID BASED ON ESTIMATED QUANTITIES
Metropolitan Site & Safety 1 Equipment, LLC	\$12,106.38	\$2,816.19	\$14,922.57
Honey Cove Lawn Care, LLC	\$16,830.00	\$14,425.00	\$31,255.00
Windy Willow Farm Services	\$27,708.30	\$13,055.00	\$40,763.30
Penguins, LLC	\$69,088.00	\$37,676.00	\$106,764.00